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o 10,334,490 9,097,958 1,236,532
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= 3,124,550 2,933,215 191,335
s 754,000 754,000 0
I 8,510 8,510 0
= 1,120,088 992,488 127,600
o 2,378,122 2,366,707 11,415
SIS otA2te] 5,423,369 5,093,019 330,350
= 2,920,250 2,728,915 191,335
= 856,475 728,875 127,600
o 1,646,644 1,635,229 11,415
&IIXtSXE 700 X 1,069,750 1,146,500 AT6,750
= 450,000 500,000 A50,000
= 234,000 200,000 34,000
i 385,750 446,500 260,750
402 QIZERHE0| A 854,250 950,000 295,750
= 416,000 475,000 A59,000
= 219,000 195,000 24,000
i 219,250 280,000 260,750
02 CIZEXHEAIH B (0| X THEA) 854,250 950,000 295,750
OFS PPNyl DAL
10,050, 000285} 854,250 950,000 A95,750
= 416,000 475,000 A59,000
= 219,000 195,000 24,000
i 219,250 280,000 260,750
405 KHAHE S| 214,000 195,000 19,000
= 34,000 25,000 9,000
= 15,000 5,000 10,000
i 165,000 165,000 0
01 AL =SS FHSHI 214,000 195,000 19,000
O3E&I|IASIE 04
42,800,000 *5CH 214,000 195,000 19,000
= 34,000 25,000 9,000
= 15,000 5,000 10,000
i 165,000 165,000 0
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S BIEOA H2ZAS 1,567,619 1,592,019 A24,400
= 832,250 820,915 11,335
< 210,075 226,475 16,400
i 525,294 544,629 219,335
201 et 3| 2,119 2,119 0
= 0 1,215 A1,215
< 0 365 2365
i 2,119 539 1,580
01 AtR2elt] 2,119 2,119 0
OXIIHIZt &HE =2 3,750 %5654 2,119 2,119 0
= 0 1,215 A1,215
= 0 365 A365
o 2,119 539 1,580
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= 70,000 0 70,000
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405 XHAHE SH| 90,000 0 90,000
= 70,000 0 70,000
(o= 20,000 0 20,000
01 AR ESEFHSHI 90,000 0 90,000
OXIIEEX 70N K&
90,000,000 1CH 90,000 0 90,000
= 70,000 0 70,000
== 20,000 0 20,000
oEE 25 801,551 768,625 32,926
= 47,014 32,000 15,014
== 17,993 13,489 4,504
i 736,544 723,136 13,408
NosdEH 273,088 240, 162 32,926
= 15,014 0 15,014
(o= 4,504 0 4,504
o 253,570 240, 162 13,408
NHASEEHMAISE F=E 75,662 76,262 AB00
206 M=l 0 600 AB00
01 MZHl 0 600 AB00
OOFMSIhX] HHXZY ZAES 2
osl 0 600 AB600
MERH WS 2HSAZ EIXI 7,399 3,900 3,49
301 LBEAEZ 7,200 3,900 3,300
11 HAAHIX 23 4,200 900 3,300
Odds & AFXNE FoHaS EIXSAL &
A A 30,0002%14001%13] 4,200 900 3,300
307 GI2+0I& 199 0 199
06 282 199 0 199
OfYs & 4FXE RoA= EIXIHAL &
A% BE O 1.42021%1400! 199 0 199
OtZePtHXIgd 2AEE 7 30,027 0 30,027
= 15,014 0 15,014
(o= 4,504 0 4,504
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i 10,509 0 10,509
201 et 3| 30,027 0 30,027
= 15,014 0 15,014
= 4,504 0 4,504
o 10,509 0 10,509
01 At22teld| 30,027 0 30,027
OMAUMel 22 (MAHG], 252 5)
30,027,000 30,027 0 30,027
= 15,014 0 15,014
= 4,504 0 4,504
o 10,509 0 10,509
=ZHH 912,190 717,195 194,995
sSFX 22l 912,190 717,195 194,995
= ZEH 29,922 22,122 7,800
201 et 3| 17,398 9,598 7,800
01 AtR2elt] 17,160 9,360 7,800
O=xZEAMD SHAZE U (LYLHA
) 600,000 x65*32| 10,800 3,000 7,800
S=stEa 2 843,298 656,103 187,195
201 LE23H| 171,566 158,196 13,370
01 At22teld| 155,246 148,210 7,036
O3=st&EA HEXl 7Y
52,00024%81Jl{ A*33| 12,636 5,600 7,036
02 2224l 16,320 9,986 6,334
O3seEd MRS
36,0002 %301 A* 128 12,960 7,802 5,158
OZ=sEe =23
25,0002 5] A% 122 1,500 1,104 396
O3SsHEA HIAER=
5,000 %310 A+ 128 1,860 1,080 780
307 212t01™ 171,072 164,007 7,065
05 BIZIRIEZ 171,072 164,007 7,065
O3=etEe |2l
176,000 *81 ) A 122 171,072 164,007 7,065
401 AlEHIZL 08I 500,660 333,900 166, 760
01 Al&Hl 500,660 333,900 166, 760
O3&3sI&4l Hl(AA224)
360,000 %81l A 29,160 22,400 6,760
O0l=4 S=sHE4a S04 &Xl
80,000,000 %5 A 400,000 240,000 160,000
MEHH D |22t 3,964,302 3,882,302 82,000
= 38,000 38,000 0
= 12,000 12,000 0
o 3,914,302 3,832,302 82,000
MEMD| 2t 3,964,302 3,882,302 82,000
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= 38,000 38,000 0
& 12,000 12,000 0
o 3,914,302 3,832,302 82,000
HOI2E3XeANE2Y 1,812,697 1,730,697 82,000
401 AlEHIZ2THY| 258,155 176,155 82,000
01 Al&H| 258,155 176,155 82,000
O E A4 X2 SR2SA
62,000,000 1Al 62,000 0 62,000
ONHEZ Kot 2=3 HLSA
20,000,000 %14l 20,000 0 20,000
HRES(2HE (M) 1,005,276 70,562 934,714
SEXE 947,813 13,099 934,714
2xz3 BEl=s 947,813 13,099 934,714
802 Bret=DIEF 947,813 13,099 934,714
01 =2082X30e=2 712,101 8,779 703,322
O22d SHOIEXCI KA EBHEH(O|XF
L5 364,792,580 364,793 0 364,793
O22d MNEESEEMLAIL T EH (0K
T3t 915,000 915 0 915
O219 sZHHIY4+=HEA2 O XFeaoH
7,0002 / 0 /
O\ sZHUIdsHBA S SHEH (0K
L5 715,000 715 0 715
o214 HHlY BSdotE &5 XA &
SHAFOH (0| KHEZ &) 76,780 77 0 77
O22d HHlY SSdoHE &5 XA &
SHEIOH(O|RIELE) 2,920& 3 0 3
022 gl0l SExter LPGRH &8 XI& A
TISHRIH(O|KFLES) 7,074,690 7,075 0 7,075
OMEZ sOHEHDISM2IAIZ () 24
AHY EIBHAHOH(O| RHLEL) 6,345,000 6,345 0 6,345
O224 Ok =SS TIGHOIZANY OIKHZAHOH
13,1002 14 0 14
0204 MI|XSX B2A EESHEZH(0| Kt
&) 1,404,0002 1,404 0 1,404
O21d HIINSX B2 A BB EZH(0| Kt
) 67,540,000 67,540 0 67.540
O22E MI|XISKt BSAY EHEH
251,582,000 251,582 0 251,582
O223 M=A822{ O|XtgaoH
11,3302 12 0 12
O BtASE MEAMXMRE ZSHRIH(0|X
& 2,280,000 2,280 0 2,280
O228 AZOHMZAl L HS O AHehadoH
3,560 4 0 4
O22 0f2lo] SM22IX4EH x2S A
2! OIXreayon 375,9602 376 0 376
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02 Al - EHIEXZEHEZ 235,712 4,320 231,392
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O22d sZHHIE4+H2AZ TR (0| Xt
& 715,000& 715 0 715
O214 HHlY 2S3oHE &= A &
SHEMOH(O| RHEE) 76,780 77 0 77
O22¢ HElY Z=SX6HE &5 XA &
SHERHOH( Q| Xtz 8t) 2,920 3 0 3
022" glol SsRteF LPGRE M3 XA
EIH TN (O|XFEEEY) 2,119,990& 2,120 0 2,120
O21d 22 XIJAAIS O] At oH
10,700& 11 0 11
O22d OIMSE =22 TIoH24A &SHEH(
Ol KtIL &) 4,324,000 4,324 0 4,324
022" 0SS TIoHOIZAIY O KHetAd ol
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&) 14,582,000 14,582 0 14,582
O22d HI|XSKE BSAIY SSHRH(O|XFEL
&) 98.441,000& 98,441 0 98,441
O22E AISIZ|UHE StELES oEAE &
SHEMOH(O| RHEE) 920,000& 920 0 920
Q223 AZHEZAl & THE A O At
oH 1,660& 2 0 2
0223 0{2I0] SAIZeIXEE EX2E A
& O KHefAyon 112,780 113 0 13
O22E Ofelo] JISAE g3 Al &
SHEMOH(O| RHEE) 160,260 161 0 161
O22d UMEE 22| YHEH(0|KHEE)
18,2102 19 0 19

- 308 -




A E Al A

F

</

Nl & O

ol ROCCRIRIRIRIRIR R
¥ 8 SREEES S
_x._ 20 «© © |© [ |o [ |o ©
oH
q xo
4 =
=)
S S XN
o0 NN~ ©v v
zr © ~ ©
K0
~
S szl =
© 33NN &
m kg 5|o|o|o|o|o ©
]
<
=
M=
W
)
(<o}
Mo
O 1
0 o) o
Bl 3D
. <
a @
< R0
y =
= =
= = 3|
al = = -
o L
5 iof o ﬂﬂm 1o
H_MWEE wrl_a billl N o oK
RUES) = |ur o
w_.lj 3 = HAM ~ [Kd ﬂnw__%
RORIL = 20| (M0 o [ =y
WL mo oF |RU [ [a | R
ST i N NS
oF il K = @_xg%mmo
ORI o |3 W |R |k |®
= 30 ol | [H
N o ok |
T & oF &0 =
I R0 o [l

- 309 -



